L2 COMPUTE time per input event Entries 2673573
Mean 4.082
2
§O RMS 3.472
@
> Underflow o
10° Overflow 405
10*
10°
10 |
FO e i a1 F it i e
1F
Ev
0 20 40 60 80 100 120 140 160 180

X: COMPUTE time (CPU KTics)

y: rate (Hz)

L2 DECISION time per input event Enties
Mean

2

] . .

[ . | RMs

> 4 . .

0% b b e

> + | underfiow
+ | overflow

64553

3316

2.159

0

] 5 10 15 20 25 30 35
x: DECISION time (CPU kTics)

y: rateéHz)

rate of COMPUTE Enties 2673573 otal events. O=anylnput pt L pt 1. p Entries 5638602
Mean 988.2 Mean 1491
RMS 547.2 | RMS 2.407
Underflow 0 +] underflow 0
Overflow Overflow 0

1 i
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2 4 6 8 10 12 14 16 18
X: time in this run (seconds) Input: 0=comp, 1=decis, user ..., 10=accept,...user

rate of DECISION Enties 64553 | ETOW-compute: #towers w/ energy /event Entries 2673573
Mean 982 Mean 2.604
RMS 550.4 ’ RMS 2213
Underflow 0 Underflow 0
Overflow “ | overtiow 0

0

200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

L2 COMP+DECI time per input event

Entries

Mean

RMS

Underflow

Overflow

64553

12,65

7.862

0

32

100 120 140

Thu Jun 18 OEAEEA5GTE

160 180

x: # ETOW towers

y: rateg—!z)

rate of ACCEPT Entries 64553
Mean 982
RMS 550.4
Underflow 0
Overflow

10

0

200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

ETOW: Seed Tower Number

10

10?

Mean

Entries 33412

375.7

204




ETOW: Cluster Seed Et GeV | Entries

10*

10

102

10

Mean

33412
5.709
1.437

--------------- G ] RS

ETOW-decision: accepted clust ... Entries

= = =
= o o o
o N w .

oI| IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIIIIII| 1T

[

Mean
RMS

66684
7.077
1.741

x: ET(GeV)

ETOW:

30

10*Seed Et/Cluster Et GeV | Entries

Mean
RMS

33412
8.174
1.321

..............................................................................................




ETOW: Seed Tower Number

Entries

...............................

...............................
...............................

Mean

RMS

33412

180.5

106.7

......

....................

.....................

.......................

1 _"I::::I::::I::::I::::l:::: :::I::::I::: :::é::::::::::::::::::::'::::::::::::::::::: ::::I::::I::::I::::I::::i::::l::::l::::l::::i:::‘ :::I::::I::::I::::I::::L:::I
0 50 100 150 200 250 300 350
ETOW: Seed Tower Number | Entries 33412

Mean

RMS

937.7

93.71

1 FESEERE IRt Sl | (|13 S
400 450 500 550 600 650 700




ETOW-compute: #seed towers ET>4.20 GeV / event

Entries 2673573

ETOW-decision: acc cluster ET>5.50 GeV

2 F : : : : : : : T |Mean 0.524
ek
8 6 5 P Lo 5 © i lrws  01s3
A0 i SRREEPD PERERRD REEPEEFERPERRE SEPREES
105_ .....................................................................
104 .........................................................................
103 .....................................................................
102 -------------------------------------------------------------------------

TE] B S ST R S

1B oo oeochredbeod e d e b

0 10 20 30 40 50 60 70 80 90 100

X: # ETOW towers

Entries 2738126

§2) : Mean 0.5244
= :
=] :
(o] :
<-:’L I S S S S RMS 0.1543
= :
10 s T ST T TR L ST LR L EEERELT ETREED
4 :
10 ....-.......a.......-.......-...............: .............................
10 R e eeeees feeeeeedeeens Feeeees PR

'|'}1'r1'|'{'r|'|'r'|'r1'r1'|'1'|'|'|'|1'r1'r|'|'1'|'|'|'r1'r1'|'|'|'|'|'|'|'r1'r

0 5 10 15 20 25 30 35 40 45
x:cluster ET(GeV)

ETOW-decision: any cluster

Entries

10*

...........

............................................

7| Mean

:|RMS

33272

7.078

1.741

50

10

10

20

25
x: ET(GeV)

30

ETOW: Seed Tower Rank Entries 33412
F Mean 1.501
: RMS  0.02894
104:_ ...................................................................
103:— ''''''''''''''''''''''''''''''''''''''''''''''''
102:_ ...................................................................
10:— ----------------------------------------------------------------
1 bttt vtk
0 2 4 6 8 10 12 14 16 18 20



| ETOW: Seed Tower Quadrant Entries 33244

Mean 1.629
RMS 1.082

| ETOW: Cluster Et Sum GeV | Entries 33244
Mean 7.078
RMS 1.741

=
(=}
S

=
o
w

...................................................................................................

=
o

H
o
2
o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

.....................................................

[

ETOW: # non-zero towers per cluster Entries 33412

C ; ; ; : : : : : Mean 2.934
---------- : ’ 0.7716

10*

10

.........................

10?

.........................

10

0 0.5

Thu Jun 18 05:46:54 2015



